

HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd 124 Halewood South Africa
 Company Registration number: 1998/001887/07
 www.halewood.co.za

61 TORONTO STREET TEL: +27 11 746 4200
 APEX EXTENSION 1 FAX: +27 11 422 5888
 BENONI 1501

PO BOX 2132
 BENONI 1500
 SOUTH AFRICA

VAT Reg No: 4590177624
 MANUFACTURING & DISTRIBUTION LICENCE: RG000275

BANKING DETAILS:
 FIRST NATIONAL BANK
 A/C NO: 62889748368
 BRANCH CODE: 240129
 REFERENCE:

15957
 78035075
 Printed on: 08/01/2025
 at: 10:40:57

INVOICE TO: Halewood - Johannesburg
 Halewood International S A (Pty) Ltd
 61 Toronto Street
 Apex Extension 1
 Benoni
 1501

DELIVER TO: Halewood - Linbro Park
 Halewood - Linbro Park
 4th Ashworth Street
 Linbro Park
 Gauteng
 South Africa

Shipping Instructions:



29364

100465

CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HH	1983183		08/01/25	08/01/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
BUFFELBRA750	BUFFELFONTTEIN BRANDEWYN 750ML @ 43%	CS	208	0	HH	793.69	165,088.11
BELGINDLEM275ML	BELGRAVIA DRY LEMON NRB 275ML	CS	1,092	0	HH	208.29	227,456.84
BUFFELWINEPIN750ML	BUFFELFONTTEIN PINOTAGE WINE 750ML	CS	3	0	HH	358.80	1,076.40
CTRUMSPCED750ML	C/TWIST SPICED RUM 750ML @ 35%	CS	10	0	HH	610.82	6,108.17
CTRUMWHITE750ML	C/TWIST WHITE RUM 750ML @ 43%	CS	34	0	HH	659.28	22,415.65
RSVODENERINF750ML	RED SQ FLAVOURED VODKA ENERGY INFUSION 750ML	CS	18	0	HH	424.67	7,644.13
RSVODKA750ML	RED SQ VODKA 750ML @ 43%	CS	18	0	HH	654.76	11,785.75
RSVODLIME750ML	RED SQ FLAVOURED VODKA LIME 750ML	CS	24	0	HH	429.54	10,308.91
RSVODPASFRU750ML	RED SQ FLAVOURED VODKA PASSION FRUIT 750ML	CS	10	0	HH	423.12	4,231.22
RSVODSTRAW750ML	RED SQ STRAWBERRY VODKA 750ML	CS	9	0	HH	424.68	3,822.15
SKSTRACRE750	SIDEKICK STRAW/CREAM 750ML	CS	5	0	HH	501.33	2,506.64
HOBSSWINEBRUT750	HOUSE OF BNG SPARKLING WINE BRUT	EA	0	12	HH	257.39	3,088.70
BELGINDLEM275MLNA	BELGRAVIA DRY LEMON NON ALC	CS	78	0	HH	112.38	8,765.70
BELGINTON275MLNA	BELGRAVIA TONIC NON ALC	CS	22	0	HH	109.57	2,410.53
CTSTRAWAT 275ML	C/TWIST STRAWBERRY & WATERMEL 275ML	CS	78	0	HH	219.40	17,113.14

HALEWOOD

Received by:
 A. Alford
 16/01/2025

HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd & Halewood South Africa
 Company Registration number: 1998/001887/0/
 www.halewood.co.za

61 TORONTO STREET TEL: +27 11 746 4200
 APEX EXTENSION 1 FAX: +27 11 422 5888
 BENONI 1501

BANKING DETAILS:
 FIRST NATIONAL BANK
 A/C NO: 62889748368
 BRANCH CODE: 240129

PO BOX 2132
 BENONI 1500
 SOUTH AFRICA

MANUFACTURING & DISTRIBUTION LICENCE: RG000275

Printed on: 08/01/2025
 at: 10:40:57

INVOICE TO: Halewood - Johannesburg
 Halewood International S A (Pty) Ltd
 61 Toronto Street
 Apex Extension 1
 Benoni
 1501

DELIVER TO: Halewood - Linbro Park
 Halewood - Linbro Park
 4th Ashworth Street
 Linbro Park
 Gauteng
 South Africa

Shipping Instructions:



29364

CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HH	1983183		08/01/25	08/01/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
HBBLUETONIC24X200	HALL & BRAM BLUE TONIC CAN 200ML	CS	12	0	HH	88.11	1,057.35
WHITGINBORANGEF50	WHITLEY NEILL GIN BLOOD ORANGE 750ML @ 43% BOTT	EA	0	12	HH	129.71	1,556.55
HOBBLANCNTARC250	HOBOG BLANC NECTAR 6x4 IN CARTONS	CS	3	0	HH	730.44	2,191.32
HOBROSENECTARC250	HOBOG ROSE NECTAR 6x4 IN CARTONS	CS	10	0	HH	730.44	7,304.40
BELGRAVPINGIN200ML	BELGRAVIA PINK GIN 200ML @ 30%	CS	11	0	HH	301.96	3,321.60
BELGRAVBLKBER750ML	BELGRAVIA BLACKBERRY GIN 750ML @ 30%	CS	104	0	HH	492.14	51,182.50
RSVODKAPAPPLE750ML	RED SQ VODKA PINEAPPLE 750ML @ 25%	CS	19	0	HH	417.90	7,940.19
RSVODKAWBERRY750ML	RED SQ VODKA WILDBERRY 750ML @ 25%	CS	18	0	HH	423.43	7,621.81
BUFFELKOLBOEP275	BUFFELSFONTEIN & KOLA BOEPENS 275ML	CS	78	0	HH	219.67	17,134.61
DMFSPICEDR750ML	DEAD MAN'S FINGERS SPICED RUM 1 X 750ML	EA	0	8	HH	118.10	944.76
APPELSPICDRUM750	APPEL SPICED RUM 750ML	EA	0	18	HH	120.21	2,163.76
GELSBLENDWH1X750	GELSTON BLENDED WHISKEY 750ML	EA	0	48	HH	180.57	8,667.59
HBCITRS24X200	HALL & BRAM CITRUS TONIC CAN 200ML	CS	4	0	HH	116.39	465.55
BUFFELBRA200	BUFFELSFONTEIN BRANDEWYN 200ML @ 43%	CS	2	0	HH	467.16	934.31
MUSGRVGINORIG	MUSGRAVE GIN ORIG 1 X 750ML	EA	0	4	HH	152.72	610.87
MUSGRVININSP	MUSGRAVE GIN ORIG IN SPIRIT NON ALC	CS	1	0	HH	415.67	415.67



Handwritten signature and date:
 16/01/2025

HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd 64 Halewood South Africa
 Company Registration number: 1998/001887/07
 www.halewood.co.za

61 TORONTO STREET TEL: +27 11 746 4200
 APEX EXTENSION 1 FAX: +27 11 422 5888
 BENONI 1501

PO BOX 2132
 BENONI 1500
 SOUTH AFRICA

MANUFACTURING & DISTRIBUTION LICENCE: RG000275

BANKING DETAILS:
 FIRST NATIONAL BANK
 A/C NO: 62889748368
 BRANCH CODE: 240129
 REFERENCE:

Printed on: 08/01/2025
 at: 10:40:57

DELIVER TO:

Halewood - Linbro Park
 Halewood - Linbro Park
 4th Ashworth Street
 Linbro Park
 Gauteng
 South Africa

Shipping Instructions:



29364

CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HH	1983183		08/01/25	08/01/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
MUSGRVAGPNK12	MUSGRAVE GIN PINK CASE of 12 X 50ML	CS	1	0	HH	304.36	304.36
BELGINDLEM660ML	BELGRAVIA GIN & DRY LEMON NRB 660ML	CS	160	0	HH	245.93	39,348.05
DMFRSRASPR275ML	DEAD MAN'S FINGERS RATTLESNAKE R&R RUM 24 X 275ML	CS	78	0	HH	210.67	16,432.17
BLAUWBFAFT500	BLAUWKLIIPPEN BEFORE & AFTER 1 X 500ML	EA	0	2	HH	271.17	542.34
HASENRACHE275ML	HASENRACHE HERBAL LIQUEUR 275ML RTD	CS	24	0	HH	226.48	5,435.47
SKLPADTEPEL275	SKLPADTEPEL GIN RTD	CS	156	0	HH	226.72	35,368.00
SKLPADGIN750ML	SKLPADTEPEL GIN 1 X 750ML	EA	0	25	HH	156.85	3,921.30
BELGPLATGN750	BELGRAVIA PLATINUM 750ML @ 43%	CS	104	0	HH	655.27	68,148.01
GELSTSOD275ML	GELSTON LIME & SODA	CS	78	0	HH	270.48	21,097.68
DMFRSRASPRPCH	DEAD MANS FINGERS RATTLESNAKE POUCH 12 X 300ML	CS	13	0	HH	117.86	1,532.23
APPELGOUEFOUTE275ML	APPEL GOUE FOUTE 275ML NRB GEKRUIDE APPEL GEUR	CS	18	0	HH	207.64	3,737.58
APPELSTOUTEFOUTE275ML	APPEL STOUTE FOUTE 275ML NRB DONKER RUM & COLA	CS	15	0	HH	228.65	3,429.80
HOBNECTARNAROSE250ML	HOUSE OF BNG NECTAR NON-ALCOHOLIC ROSE 250ML	CS	1	0	HH	730.44	730.44
BELGINDCHY750ML	BELGRAVIA DARK CHERRY GIN 750ML @ 30%	CS	104	0	HH	502.78	52,288.65
SWITCHORIG275ML	SWITCH ORIGINAL 24 X 275ML NRB ENERGY DRINK	CS	1	0	HH	112.00	112.00
SWITCHSBOK275ML	SWITCH SPRINGBOK 24 X 275ML NRB ENERGY DRINK	CS	1	0	HH	112.05	112.05



Received by:
[Signature]
 16/01/2025

HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd
 Company Registration number 1998/00188/707
 www.halewood.co.za

61 TORONTO STREET TEL: +27 11 746 4200 BANKING DETAILS:
 APEX EXTENSION 1 FAX: +27 11 422 5888 FIRST NATIONAL BANK
 BENONI 1501 VAT Reg No: 4590177624 A/C NO: 62889748368
 SOUTH AFRICA MANUFACTURING & DISTRIBUTION LICENCE: RG000275 BRANCH CODE: 240129
 REFERENCE:

Printed on: 08/01/2025
 at: 10:40:57

INVOICE TO: Halewood - Johannesburg
 Halewood International S A (Pty) Ltd
 61 Toronto Street
 Apex Extension 1
 Benoni
 1501

DELIVER TO: Halewood - Limbro Park
 Halewood - Limbro Park
 4th Ashworth Street
 Limbro Park
 Gauteng
 South Africa

Shipping Instructions:

29364

CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HH	1983183		08/01/25	08/01/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
ORCOSMOP4X2LTR	ORIGINAL ICE COSMOPOLITAN BOX 4 X 2LT	CS	1	0	HH	235.17	235.17
ORIMARG4X2LTR	ORIGINAL ICE MARGARITA BOX 4 X 2LT	CS	3	0	HH	204.35	613.04
ORIMOJITO4X2LTR	ORIGINAL ICE MOJITO BOX 4 X 2LT	CS	1	0	HH	218.22	218.22
ORISSLING4X2LTR	ORIGINAL ICE SINGAPORE SLING BOX 4 X 2LT	CS	1	0	HH	241.82	241.82
ORISSLING4X2LTR	ORIGINAL ICE SINGAPORE SLING BOX 4 X 2LT	CS	5	0	HH	241.82	1,209.09
BUFFELKOL660ML	BUFFELSFONTEIN & KOLA NRB 660ML	CS	80	0	HH	264.89	21,191.14
PALLET	GENERAL PURPOSE PALLET	EA	0	33	HH	138.00	4,554.00
DIVIDERBOARD-DISTRIBUTI	DIVIDER BOARDS DISTRIBUTION	EA	0	33	HH	5.22	172.26

*Received by
 A. Prins
 16/01/2025*

PAYMENT TERMS STRICTLY C.O.D. UNLESS CREDIT TERMS HAVE BEEN ARRANGED IN WRITING 0 2,716 195

SUB-TOTAL	ZAR	888,309.75
VAT	ZAR	0.00
TOTAL	ZAR	888,309.75

Dear customer, kindly forward a copy of your latest liquor licence to license.renewal@halewood.co.za.
 Alternately issue a copy to the Halewood sales representative.